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Factor the polynomial by grouping.

6x3 - 16x? + 21x - 56

6x° - 16x° 21x - 56 Separate the terms into 2 sets
2x°(3x-8) 7(3x-8) Find the GCF for each set of terms

(2x?+7)(3x - 8) The 2x? and 7 go together with the 3x - 8
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Factor the polynomial by grouping.

63x3 + 54x? - 105x - 90

63x3 + 54x? -105x - 90 Separate the terms into 2 sets
IxY(7x + 6) -15(7x + 6)  Find the GCF for each set of terms

(9x% - 15)(7x + 6) The 9x? and -15 go together with the 7x + 6
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Factor the polynomial by grouping.

12x%+2x? - 30x - 5

12x*+2x?  -30x-5 Separate the terms into 2 sets
2x%(6x +1)  -H(6x +1) Find the GCF for each set of terms

(2x% - B)(6x + 1) The 2x? and -5 go together with the 6x + 1
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Factor the polynomial by grouping.
3x3+2x2 - 18x - 12

3x3 +2x2 -18x - 12 Separate the terms info 2 sets

x2(3x + 2) -6(3x +2) x2 and -6 are the 6CFs

( 6)(3x +2) Since the () are the same, group them




